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PART-A / WTT-A
( MCQ BASED QUESTIONS )

( gferpediar anenfia wod )

Class-12 Sub.-Geography F.M.-35 Time -1 Hour 30 Min.

(FFi-12) (Rrea-spiw) (quit-35) | (Fwa-1 et 30 fme)

INSTRUCTIONS / fRdw ;-

Carefully fill up the necessary particulars on the OMR Answer Sheet.
grEyr @ oft fEer OMR 39 v | o |

Put your full signature on the OMR Answer Sheet in the space
provided.

39 I [ FEAE OMR I U536 T & T8 S8 W e |

There are 35 Multiple Choice Questions in this Part.

T W H Fa 35 qg-faweda v ¥ |

All questions are compulsory. Each question carries 1 mark.

W T % I AfaE ) vE T A sl 1 37 fuiia 2
There is no negative marking for any wrong answer.

TeAd I b oI wig a7 78 wHrer )

Read all the instructions provided on page 2 of the OMR Answer
Sheet carefully and do accordingly.

%nggﬁmm%@zmmHﬁﬁ%ﬁﬁm@mq%mmm
I |

Four options are given for each question. You have to darken duly
the most suitable answer on your OMR Answer Sheet., Use only
Blue or Black Ball-Point Pen. The use of Pencil is not allowed.

mmﬁggﬁqﬁﬁnﬁsﬁl' 'ﬁﬁmmaﬁmmﬁorm
I Gh U ST~V TTE et i T -8
T | URe &1 i afia #) T SIS e

Adhere to the instructions provided in the OMR Answer Sheet

very carefully otherwise your OMR Answer Sheet will be treated as
invalid and it will not be evaluated.
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Which thought was given by Griffith Taylor ?

(1) Determinism (2)  Possibilism

(3) Neo-determinism (4)  None of these

AR Yer g B R & 7 o 2

(1) TrfeEr : 2) | gy

p/w—ﬁ?rﬁm @) @

Most populated continent in the world is

(1)  Australia (2) North America
(3) Asia '- | (4)  Africa

fga 1 wed e FHEEA AT HERd |

(1) - SISARE (2) a0 i

/@.,/Qﬁﬂn : (4) STk
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Which of the following is the scale of human development index ?
(1)  Health (2) Education

(3)  Access to resources (4) All of tﬂese

wr T e e P § & -2 2

(1) R '(21 e

(3) HEHAl q% TgT ) w7 & oot

In which of the following types of agriculture are citrus fruits grown ?

(1)  Market gardening

(2) Plantation agriculture

(3)  Mediterranean agriculture

(4)  Co-operative farming
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Which one of the following types of industries produces raw materials for

other industries ?

(1) | Cottage Industries

(2)  Small scale Industries
(3) Basic Industries

(4)  Foot loose Industries

Wﬁﬁﬁém@mwmmaﬁﬁ%mﬁww

IqTEH FT & ?
(1)\ FHE I (2) ©R IH % s@m
};)/wm‘{fraﬁm (4) e
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Which one of the fD]]D“’ing s a tertiary activity ?

{1} Farming (2) Trading
(3) Weaving (4) Hunting
FEead 4 B B U 610 Geareed 2 7

(1) =4 (2)” =R

(3) T8 (4) I

Which country has the highest density of railway network ?
(1) Brazil (2) U.S.A.
{3) Canada (4)

Russia

fﬁg%ﬂﬁiﬁﬁﬁ%mwmmwmé v

_/1( EIEIC] (2) EIF T s
(3) i2] _ (4) g
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Headquarters of WTO is at

(1) Geneva : (2) Vienna

(3)  New York (4) Washington
/P)/ﬁﬁm g 2) frd
(3) ~gIwhH @)  arfimTen &
What kind of activities are géherally found in rural settlements ?
(1) Primary activities
(2) Secondary activities
(3) Tertiary activities

(4) None of these
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}L T femamd
(2) fedfas frang
(3)  qdigs fpand

~ ¢

(4) U F w4

Which of the following is a religious town ?

(1)  Jamshedpur (2)  Varanasi

(3) Bhilai (4) Rourkela

freffiad § S-a1 wtfs T R )

(1)  SmER 2 S
(3) fﬁﬁ]ﬁ (4) UIThed]
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Which state has the highest population in India ?
(1) Bihar | (2) West Bengal

(3) Uttar Pradesh (4) Maharashtra

W § wEE e SHEEE 916 TS SH-91 @ ?

(1.) fasr . /(21 ufyem se

(3) I I - (4) HEE

Percentage of urban population in India is

(1) 31% o2 41%
(3) 51% | (4) 61%
wRE & i e 1 wiwd 8

(- 31% | | ,@/ 41%

(3) 51% 4) 61%
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The factors of migration which attract people from various place,

are known as
(1) Immigration (2) Emigration

(3)  Pull factors | (4) Push factors

T % X SR e @ a5 3, 2

(1) e | k) 3o
(3} HAIHY FRH | (4) widwy SR

Which state of India has the highest female literacy rate in the

year 2011 ?
(1)  Tamil Nadu (2)  Bihar
(3) Kerala (4)  Himachal Pradesh
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(1) aieTg R fw
), T (4) Tewmee wem

The largest city of India is

(1)  Kolkata (2) Delhi

(3) Mumbai (4) Chennai
WTd <1 o8 g1 TR 8

(1) e @ @
T

Green revolution was introduced in India in

(3 T=

(1) 1950s (2) 1960s

(3) 1970s (4) 1980s
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(1) 1950 % 9 &

@ 1960 %+ e o

(3) 1970 % T H

(4) 1980 % g9 o

Which of the following is not a plantation crop ?
(1) Rubber (2) Tea
(3)  Coffee (4)  Maize
Freffien 3 3 -2 oo e 7 2 2

(1) € | | (2) =m

(3) HH /H/W
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Two excessively polluted rivers of India are
(1) Narmada and Tapt

(2) Mahanadi and Godavari

(3) Ganga and Yamuna

(4)  Krnishna and Kaveri

WA 1 &) s Wi Rt

(1) a1 9 qmHt

(2 e MeEd
B TR

(4)  FomE F&d

Haldia Oil Refinery is located in the state of

(1) Odisha (2) West Bengal

(3) Jharkhand (4) Bihar
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(1) 3nfem 4

(3) FNETE

Jharia region is famous for

(1} Coal

(3) Bauxite

g &= feas faw ufig 2 -

Bokaro Steel Centre is
(1) Private sector

(3)  Joint sector

EL_

(4)

(2)

(4)

(2)

(4)

(2)

(4)

XA-GEO-(OPT)-A
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Copper

Mica

Public sector

None of these
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Which of the following cities is known as the 'Manchester of India’ ?
(1) Chennai (2) Ahmadabad

(3)  Punjab (4) Mahdrashtra

froferaa § @ f5a T B “IRG $1 A el T R 2

(1) == 9, STEAHETE
(3) UwE | | (4) WEUE

The longest Natignal Highway in India is
(1) NH-19 (2) NH-44

(3) NH-22 (4) NH-26
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VI 1 HEE SR TP
(1)  NH-19
(3)  NH-22

The North-South corridor connects

(1)  Jammu to Chennai

(2)  Varanasi to Chennaj

(3) Srinagar to Kanyakumari
(4)  Varanasi to Kanyakumari

ST -faor nfeTarg Sgar &

{ Tam s

(2) SR w998 |

);;/aﬂwﬁam@rrrﬁﬁ

(4)  SvE W FAHHA A

XA-GEO-(OPT)-A
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(4)

NH-44

NH-26
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Between which of the following cities was the first Railway Line of

India laid ?

(1) Mumbai - Goa
(2) Mumbai - Pune
(3) Mumbai - Thane

(4) Mumbai - Ahmadabad

e <t we Ye weq e T 6 mer Bt B T o

(1) Yges - Mal L (2) H=E - g
'(} g - (4) T3 - STENCETR

Kolkata Port is located in

(1) Kerala (2) West Bengal

(3) Odisha (4) Mumbai

XA-GEO-(OPT)-A . (12)/13089| 17 / 31
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(2) ufyeg Sme A
7

(3) nfesm d

(4) g=39

Where is 'Dharavi slum' situated ?
(1) Mumbai _ (2)
(3) . Delhi (4)

‘gl S5’ el afeum § 2

(1), grs | ()
@ @A (4)

XA-GEO-(OPT)-A
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Which one of the following is the cause of acid rain ?
(1)  Water pollution (2)

Land pollution

(3)  Noise pollution (4)  Air pollution

frafafea § @ wh-a1 o aui =1 @ S 2 o

(1)  STeT JQuU ) {5% sIftr g
._, g/ e S (4) R S

Who wrote 'Gtrographia Generalis' ?

(1) Vidal de la Blache

(2) Bernhardus Varenius

(3) Francis Bacon

(4) Charles Darwin
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30. Which of the following geographical factors have affected.

distribution of population ?
(1) Climate (2) Soil

(3)  Availability of water (4)  All of these

freferflaa 3 @ SFEEn fomw =t wfya w0 9 srE BT A D 2

(1) Sy | @)

(3) T h Iuayal ’{““I/?eﬁﬁmﬂ
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Which one of the following countries has the lowest sex-ratio in the

world ?

(1) Iran’

(2) Pakistan

(3) Saudi Arabia

(4) Iraq

fava # frafaRea 4 & fr Ta #1 ~Faw fem-smom 8 2

(1) ¥H
(2)  UifeREa™
(4) T

Which settlement pattern is found in hilly areas ?
(1) Rectangular (2) Terraced

(3) Fan (4) Star
XA-GEO-(OPT)-A (12)/13089| 21 / 31
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@) dErm

(4)  awEm

Where is Bushman racial group found ?

(1) America (2)  Africa
(3)  Europe (4)  Asia
gl gl |E Fel W em § )

(1) i I 2} 3k

XA-GEO-(OPT)-A
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Damodar Valley Corporation (DVC) is located in
(1) Maharaéh tra

(2) Jharakhand

(3) Odisha

(4) Uttarakhand

eTeiver 91 ufeeE ((DVC) R @

gl

(1) WEIgH
( Fr@ve |
(3) feen d
oy IAEUS |
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Mnous is 4 type of which mineral ?

Iron (2) Mica

(4) Bauxite

1
) Fﬁ%] (2) HYh
(3)  wraen )
N4 (4) afeETEe
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PART-B / WIM-B
( SUBJECTIVE BASED QUESTIONS )
( fawafag anenfia wea )

' Class-12 Sub.-Geography F.M.-35 Timé -1 Hour 30 Min.

Lsi;(aﬁ-li) (@ yiver) (quites -35) | (@FA-1 gz1 30 fae)

INSTRUCTIONS / fidw

Examinees are required to answer in their own words as far as

practicable.
qiened] guTEvd 319d weg) A d IW <

This question paper has three sections : A, B and C. Total number of

I\J

questions is 19.
g JeATH T A @UE — A, B U C§ | o WAl bl G 19 € |

7. Section-A — Question Nos. 1 - 7 are Very short answer type.
Answer any five of these questions in maximum 30 words each.

Each question carries 1 mark.
m-Aﬁmm1-7a{ﬁa§ﬁﬁﬂm%% |z feReel e e
% FAC S0 |qﬁawmwaﬁw.30mﬁﬁéﬁq | U WU oI

e 1 2 faifa & |
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Section-B — Question Nos. 8 - 14 are Short answer type: Answer
any five of these questions in maximum 50 words each. Each

question carries 3 marks.

WUE-B — WY §EA1 8 - 14 @_mglgﬁgﬁq‘mmﬂ%m.
ﬁmlmmmwﬂwsowﬁﬁﬁﬁﬂ'mmﬁ:
titmar 3 31 fuifa 2 |

Section-C — Question Nos. 15 - 19 are Long answer type. AnSWer
any three of these questions in maximum 100 words each. Each

question carries 5 marks.

WUE-C — v T 16 - 19 4d Iuia § | T § frd A T % IW
AR | YRS Y B I INTUhaw 100 WG H AR | TR 9 H
il 5 37 fAuffa 2 )
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( Very short answer type questions )

( ot g I0T e )

Answer any five questions. 1%x5=3

fergt dter wedl & ¥R §)
1. Eeﬁne the term "Migration".
“yarE” i gfonfya =t |
2. Define 'slash and burn' agriculture.
i 37 FR Y o w
3. _What do you understand by secopdary activitieg ?

fieftass fraTeraiy @ 31T 1 A9 § 2

4/ What is tourism ?

9ded F1 8. ?
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What is meant by transport ?

o

IiEER / w0 afm R )

6.  What are Rural Settlements ?

arfto sfeaa) 71 € 2

=]

Name any one ferrous mineral.

=13 i % dr-wfis =1 am g |

Section - B
g us - B

( Short answer type questions )
( oY I W9 )
Answer any five questions. 3x5=15

feret ot weet & SR 3

8. ~ Describe any three characteristics of household industries.
~

o wam % el A Frsrwenadl 1 39 = |

Q/Writc three advantages of road transport,

g iEed & o @y faftan |
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10. Explain the non-conventional sources of cnergy

*

m—qmwmaﬁf@ﬁﬁﬂmh%|

11. Suggest any three methods for rain water conservation.

51 T T hi el i Rt e |

12,-Describe three major achievements of Green Revolution in India.

W | gl wif< Y 9 g syafeual w1 avir Hitve |
13. .Explain the major characteristics of clustered settlement,

Trema aferal i yga faRivarst #1 avi fifa |

14. State any three characteristics of commercial livestock farming,

aifoifeyss aye e 1 fndl f fdwaed 1 sg@ ik |
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( Long answer type questions )
( et I W )
5 x 3 = 15

Answer any three questions.

fredt oftr ol & ST S

15. Describe the geographical factors influencing the population

distribution around the world.
fawa § srden ¥ faom B w0 9@ sl SR BT
i |

16. Discuss any five patterns.of Rural settlement.

o7 srfeEm & feedl aie wfoedl 6t fae=m Hifse |

17. Explain the factors affecting the localization of an industry.

ferelt s <1 srafeufd B gdTfad S a1t SRt A1 =awe Hif |

lj./E‘prain the problems of Indian agriculture.

TR HY T grens ) e Fifg |
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19. Show the following in thé niap of world provided :
(a) Canada
(b) China
(c) Russia

(d) | Saudi Arabia

(e) Kolkata.

Jed FHR & qHfea 7 fefifea # fmamu
(@) HATST

(b) <A

() w4

(d) el IF

(€) Il |
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